/ College Algebra Name

Unit 6 Test Review

Solve each equation over the interval [0°, 360") If necessary, round answers to the
nearest hundredth of a degree.
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Solve each equation over the interval [0, 2m). If necessary, round answers to the nearest

hundredth of a degree.
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Solve each equation over the interval [0°, 360°). If necessary, round answers to the nearest
hundredth of a degree.
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Solve each equation over the interval [0, 2m). If necessary, round answers to the nearest
hundredth of a degree.
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